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F I =E=4 BBt BiR | BE | BS | iHEER (M) EEFPE HELH B#E£(T/A)
1 | BE-RZHE | REHRXAFXEIRE 12665 | 4 12 | 1203 62.32 1Z0T11 RELHE 1438.66
2 | RE-RZERE | RBHRAHKEEE 12665 | 4 12 | 1204 62.32 1Z0T12 REHE 1438.66
3| WE-RNFWE | AETRARXERE 12665 | 4 12 | 1205 64.74 1Z1T7132 REHE 1494.52
4 | BERFWE | AEHREFFXERE 12665 | 4 12 | 1206 57.63 1ZE1T712 REHHE 1212.13
5 | WERNFWE | RETRARXERE 12665 | 4 12 | 1207 57.63 1Z1T712 REHHE 1212.13
6 | HE-RZHE | HEHREHXETE 2665 | 4 12 | 1208 64.74 1Z1T712 REHE 1494.52
7 | HE-RZHE | AEHREHRXEE 2665 | 4 12 | 1209 62.32 1Z0fT1 1 REHE 1358.73
8 | ME-RZWE | EHRAHXERIE 1266 S | 4 12 | 1210 62.32 1Z0T11 REHH 1358.73
9 | WERZWE | NEHREHXERE 12665 | 4 12 | 1211 64.74 1Z1T7131 RELHE 1494.52
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AT RNHXOIER 12665 | 4 | 16 | 1603 62.32 1Z0F1E REHE 1438.66
AT R OIEEE 12665 | 4 | 16 | 1604 62.32 1Z0F1E REHE 1438.66
AT RN XOIER 12665 | 4 | 16 | 1605 64.74 1ZE1T712 REHE 1494.52
AT KX IR 12665 | 4 | 16 | 1606 57.63 1TZE1F712 REHE 1212.13
AT KX IEL 12665 | 4 | 16 | 1607 57.63 1TZE1F712 REHE 1212.13
FRER T R ATHT X BB 1266 5 | 4 16 | 1608 64.74 121712 REHE 1494.52
FRER T R ATH X B 1266 5 | 4 16 | 1609 62.32 1E0F12 REHHE 1358.73
FRERTE R ATH X B 1266 5 | 4 16 | 1610 62.32 1E0F12 REHHE 1358.73
FLERTE R TR X BIRRES 1266 5 | 4 16 | 1611 64.74 121712 REHE 1494.52
FRERTE R ATH X B 1266 5 | 4 16 | 1612 64.70 121712 REHE 1410.62
FRERTH R X B 1266 5 | 4 17 | 1701 64.70 121712 REHE 1410.62
REHRAFHXOIREE 12665 | 4 | 17 | 1702 64.74 1ZE1T712 REHE 1494.52
AT RN XOIER 12665 | 4 | 17 | 1703 62.32 1Z0F1E REHE 1438.66
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127 | HE RZHEE | HEHRXEHXOIRE 12665 | 4 22 | 2209 62.32 1Z0F1 2 REHE 1358.73
128 | AZE -REWE | REHREHXEZTE 12665 | 4 22 | 2210 62.32 1Z0F1 2 REHE 1358.73
129 | AZE -REWE | HEHREHXEZTE 12665 | 4 22 | 2211 64.74 1ZE1T712 REHE 1494.52
130 | HHE RZHEE | HEHRXEHXEIRE 12665 | 4 22 | 2212 64.70 1TZE1F712 REHE 1410.62
131 | HE -RZHEE | HEHRXEHXEIRE 12665 | 4 23 | 2301 64.70 1TZE1F712 REHE 1410.62
132 | IHE -RZHEE | HEHRXEHXEIRE 12665 | 4 23 | 2302 64.74 121712 REHE 1494.52
133 | AE-RIBHE | REHXARXGIRE 12665 | 4 | 23 | 2303 62.32 1E0F12 REHE 1438.66
134 | AE-RBWE | REHXFHXEIRE 12665 | 4 | 23 | 2304 62.32 1E0F12 REHE 1438.66
135 | AE-RZHE | REHXAHRXEIRE 12665 | 4 | 23 | 2305 64.74 121712 REHE 1494.52
136 | fAE-RIBWE | REHXFHXEIRE 12665 | 4 | 23 | 2306 57.63 121712 REHE 1212.13
137 | HE-RNEHE | RBHXFRXRE 12665 | 4 | 23 | 2307 57.63 121711 REHHE 1212.13
138 | fE REHE | REHRXFHXOIEE 12665 | 4 | 23 | 2308 64.74 1TZE1F712 REHHE 1494.52
139 | fHE RZHEE | HEHRXEHXEIRE 12665 | 4 23 | 2309 62.32 1Z0F1 2 REHE 1358.73
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